This Question Paper consists of 24 questions and 7 printed pages.
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General Instructions:

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions are
in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to disqualification of the candidate.

Answers for questions, like matching, True or False, Fill in the blanks, etc., are to be given in the answer-book.

5. Write your Question Paper Code No. 68 / ESS /1-A on the Answer-Book.

6. In case of any doubt or confusion in the question paper, the English Version will prevail.
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Notes :

This question paper consists of 24 questions in all.
All questions are compulsory.

Marks are given against each question.

Section - A consists of :

(@) Q. No.1 to 8 - Multiple Choice Type Questions (MCQs). Q. No. 1 to 7 carrying 1 mark each
and Q. No. 8 carrying 2 marks. Select and write the most appropriate option out of the four
options given in each of these questions.

(b) Q.No. 9 to 17 - Objective type questions. Q.No. 9 to 10 carry 2 marks each (with 2 sub-parts
of 1 mark each) and Q.No. 11 to 17 carry 1 mark each. Attempt these questions as per the
instructions given for each of the questions 11 to 17.

Section - B consists of :

(@) Q.No. 18 and 19 - Very Short Answer type questions carrying 2 marks each to be answered
in the range of 30 to 50 words.

(b) Q.No. 20 to 23 - Short Answer type questions carrying 3 marks each to be answered in the
range of 50 to 80 words.

() Q.No. 24 - Long Answer type question carrying 4 marks to be answered in the range of
80 to 120 words.
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Note /‘F-I%IFT :
(1) Answers of all questions are to be given in the Answer-Book given to you.
Gt g1 o ST 3M9hl & A I Yidem | € ford |

(2) 15 minutes time has been allotted to read this question paper. The question paper will be distributed
at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the students will read the question paper only and
will not write any answer on the answer-book during this period.
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SECTION - A/@UE - A

1.  In Excel, the value of the formula : F3=B3 +C3 + D3 +E3 will be if the values 1
for B3=50, C3=93, D3=89 and E3=230.
(A) 259 (B) 260 (C) 261 (D) 262
Toa § Wi F3=B3+C3+D3+E3 & AH g A B3 =50, C3=93, D3=89
3R E3 =30 fean = 2
(A) 259 (B) 260 ©) 261 (D) 262
2. Which of the following is a logical operator ? 1
(A + B) / © > (D) *
TTH 9 T AR SN 7 2
(A) + B) / © > (D) *
3.  Which of the following is a valid cell reference ? 1
(A) 25A (B) X59Y C©) A4 (D) 2001
T 9 T oY A1 A S TR § 2
(A) 25A (B) X59Y C) A4 (D) 2001
4.  Which of the following is not a text alignment option ? 1
(A) Left (B) Right (C) Center (D) South
= 1§ 9§ B9 91 ooy TRe YaeTie fasey 78 §2
(A) w® (B) e () TR (D) =Y
5.  What happens when we press a key combination as Ctrl + A while working in a word 1
document ?
(A) Entire document is deleted (B) Entire document is selected
(C) Entire document is copied (D) Entire document is capitalised
€ TEAES H e A AT AfE 89 Ctrl+ A IS bl Teh H1el S <l 1 B0 2
(A) U TS fedfie € smam (B) U &S THeieR 8 ST
(C) YU SIS il & ST (D) YU SIS hiUeess &l S
= A
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6.  Which of the following syntax for a function is correctly written ? 1

(A) SUM (B3 : E3) (B) SUM (F5/Ab5)
(C) SUM (=*P5) (D) SUM (=*P3 : A3)
T HeoR[ & fow 390 9 F &1 f6 3 98l ale 9 foran mn 2?2
(A) SUM (B3 : E3) (B) SUM (F5/Ab5)
(C) SUM (=*P5) (D) SUM (=*P3 : A3)
7. Which of the following is not a PowerPoint view ? 1
(A) Normal _ (B) _Slide Sorter (C) Slide Show (D) Content
T 9 1 T eRuiEe = TEl © ?
(A) @ (B) TES WX (C) warEs W (D) #Ez
8. In the questions given below, there are two statements marked as Assertion (A) and 2
Reason (R).

Choose the correct option out of the choices given below in each question :
(i) Assertion (A) : Line spacing determines the height of text in the paragraph.
Reason (R) : The default option is single line spacing.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(
(

C) (A) is true but (R) is false.

D) (A) is false but (R) is true.

(E) Both (A) and (R) are false.

= feu T e H S e fou e € 59 TEei (A) oI Os (R) o &9 § Tk foran T T
T ¥ o 1 feu U foehedi # 9 W&l foeheg 94 ¢
TH9A (A) g QT R o TR 1 Serg faifa s
{5 (R) : Eihiee fasheq faTer arg e e 7|

(A) (A) 3R (R) IH T2 ¥ 3R (R), (A) 1 Wl 90 T
(B) (A) 3R (R) I Tt € W (R), (A) T Tk vl Tl 1
Q) (A) T & R (R) Ted B |
(D) (A) 7A€ W (R) &l T
(E) (A) 3R (R) SHi TTerd €1
(i) Assertion (A) : Bar Code Reader is an image scanner.
Reason (R) : An image scanner translates printed images in an electronic format
which can be stored in a computer’s memory.

Both (A) and (R) are true and (R) is correct explanation of (A).
Both (A) and (R) are true but (R) is not the correct explanation of (A).
(A) is true but (R) is false.

(A) is false but (R) is true.
( Both (A) and (R) are false.
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9.  State True or False for the following statements : 2
(i) Font size is measured in meters.
(i) By default Tab stops are set at 0.5 inch intervals.

=1 el ° 9 @1 A1 Terd JaRy
(i)  TRIC WIEST I WX H HT91 S
(i) EIhice GRI 9 W 0.5 39 & FARA W H2 T |

10. Fill in the blanks : 2
(i)  When you cut or copy text, the text is stored in an area of memory called
(id) is the short-cut key for paste option.

frar Torl w1 9w

(i) T Y TR I He AT A W &, T TR HERT F T URA H S @R & o © i
wEd © |

(ii) e foheq % faw widhe =t Tl

Fill in the blank :
e T o)
11. colour wavy line appears under misspelt word. 1

{1 !l TEER AR TTeld WA ol wee o i< fe@i <t 1

12. is a printer that produce images by pushing electrically heated pins against 1
heat-sensitive paper.

faaX]

T feX & S o Gagasiel el o 9rg@ aw fomi sl @t gfdfsie 3cae et |

13. A is text which is added to the top margin of every page. 1
T8 TR ¢ T8 W U9 % 2 Al § T o S

14. What is the key combination which is pressed to insert a page break ? 1

UST Sk TS i o TIT i | Shoil HaAST o1 Sl § 2

15. What is the shortest way of selecting a whole paragraph ? 1
IR IR Taeiae S 1 Fod BIeT qliehT 91 € 2

16. Which function is used to calculate sum of a range of cells with respect to a given criteria ? 1

T I ok SMYUR W T IS k1 I FHehter o foIT fore Sem™ k1 92T foman Sian € 2

17. is a slide that is used as a starting point for all other slides of the presentation. 1

TUSIeM % o1 TSl & foru s omfues fag ot qg #rd &t T
E2E
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SECTION - B/ @US - B

18. (i) What is the difference between a compiler and an assembler ? 2

FHTEER SR THreR § S T Hifse |
OR /319
(i) What is a High level language ? Give at least two examples.

BT Ierel olTerst o1 Bt © 7 A W hH T Seelul SIS |

19. Suneeta was teaching about printers and its types in a computer class. At the end she asked 2
students following two questions. Please try to answer.

(a) Name the printer type which produces text by combination of dots on a paper.

(b) Name the types of printer which is extremely fast but works quietly with automatic
paper loading feature.

Teh PR T § GArar fie 3R 37k YohR & o | vel W off | aeie & ofd § 38 Bl § f
9T T | AT 3R ST ST
(a) 39 fdex &1 AW A S IR W el & e ¥ T fife w7

(b) 38 fiex 1 19 FaTd S oI5 € A9 © AR Wiq TR e © S o sierifes TR
FAfET HR T

20. (i)  Write names of any three generalized packages which are most commonly used. 3
fopgl A ST eTges Yahsil o ™ fafEau S 1™ dR 9 3= 8 2

OR/ 3Tere

(i) Write any three DataBase Management System (DBMS) Programs.
fop=l < Srererd Aeetie faeen gl & 7 fafaw

21. Write the steps to print the addresses directly on the envelopes using Mail Merge. 3
TS ISl ohl WA ek U dl ol 918 Taerd R fife i & ww fafeu |

22.  What are the three options available under select starting document process in Mail Merge ? 3
Explain briefly.

Ao 7ot H fetae wifén s wfshan & ded Suetsy i fased a1 € 7w faero difsm
E¥2E
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23. Expand the following (Any three) :

(a) ISP
(b) PC
(c) ISDN
(d) TCP
(e) TLD
=1 =1 quiterey fafan (e i)
(a) ISP
(b) PC
(c) ISDN
(d) TCP
(e) TLD

24. (i)  Define Organizational Domain. What are its types ?
T (SRS ) S I TR HITST | 35 fohe Fohr & 2
(i) Explain Domain Name System with example.

S 41 FRen &7 3STET01 & T JUiA hifsd |
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